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Scenario #1: Ann is buying an Acadia for $37,287 with a $3000 dealer incdﬁvc rebate and will put
$1,000 down. She secures financing through her credit union for a 60-month loan at 2.95% APR

Auto Loan Worksheet Name

compounded monthly (monthly payment per $1,000 is §17.95). Find the principal loan amount,
monthly payment, total loan amount, total interest paid on the loan, and total purchasing cost of the
vehicle.

37287 ~3000 — 000 =$33207
32,287 x A5 = #B597.50
597.50 X &0 = 3595
75,850 ~323287 =L25,3

Principal loan amount b 23,2<7]
Monthly payment 3 55972 50
Totalloanamount __ Y 35, %870
2,563

Total purchasing cost__J} Zle 250

[ntcrest paid

35850 + 1000 =£3@8§O

Scenario #2:

Ron wants to take out a $38,407 loan for a new Chevy Silverado through his local credit union. He has
several plans to choose from.

Time APR Monthly payment per $1000 financed
Plan 1: 24 Months  2.75% $42.88
Plan2: 36 Months  2.75% $28.98 ag HO'7
Plan 3; 48 Months ~ 2.75% $22.03 N X
Plan 4: 60 Months  2.75% $17.86
Plan 5: 66 Months 2.75% $16.35
Plan 6: 72 Months  2.75% $15.09 for vehicles valued at $22,500 or more
Plan 7; 78 Months 3.45% $14.34 for vchicles valued at $30,000 or more
Plan 8; 84 Months 3.95% $13.65 for vehicles valued at $35,000 or more

Using the information above, complete the table below.

Plan Monthly payment yw?_| Total payment -7 P | Total interest paid TEP
24 month / Ll 24 361;5;) ST 8.3

36 morih LU3.03 | 40,009, 02 Llob2.0¥
38 month 247 1] 40,61%.28 220(.28
60 month L %5 .95 A((; 157.00 2750.00
66 month /927,94 i, 444.70 3,0237.70
72 month £,79.5( 41,728.32 F,321.32
78 month 554, 7(p L-}Q;fqu'&g 'LC, 559;2?
§4 month 524 . 4y 637.84 5,630.8Y

mp x B monthe, TP

3g 4o




1. If Ron has an annual salary of $ 42,500 after taxes and budgets 20% for his auto loan, which
monthly plans could he choose? Explain your reasoning. G0 -3 4 mio A [r:..?a,mt. 5

HR500 x 20 =3R500 annval b/t Hoans ave less Hon
Be00 7 12 = #70%.32 monthly  Agp 33
2. Which plan would you recommend Ron choose? Explain your reag)m'gg NS UARY
i)

G0 monH. leon_ {145 He #7708.33 gg? witl Sove
Rcm 4 brceoode <SS in vest (s Fxpo’ Fram. Heo b6 “?"/mon% pfans

3. If Ron wanted to budget only 15% of his after-tax salary for his auto loan, which monthly plans
could he choose? Explain your reasoning,. - ' E
42500 % A5 = LATS snnusl B sz‘H\ f{)!‘“g +})S
. - : gh s [255 Thaae
b3 12 2 B53L25 ety T
o

4, Which plan would you recommend Ron choose? Explain your reasoning. !

24 monH«l p[&M i-S 4‘&_;_ 0«\53 OPJ(E:;V‘. {QES'H’*"’”"-\

H531.25
Scenario #3:
Alicia is buying a new car for $42,895 and is able to put down $3920 with hex iradein and a $2250

A —————

cash allowance. She is planning o finance the loan at her local bank.

1. What is the principal loan amount that Alicia will be requesting? 5’33 (p :7 9\5_
4289s — 3920 —2250 =

The bank offers a 60-month loan at three different annual interest rates depending upon Alicia’s credit

SCOre.
Credit Score APR )
780+ 3.25% (monthly payment per $1,000is $18.08) 362825 x [¥. o8
670-780 3.75% (monthly payment per $1,000 is $18.30) 3¢, 7245 X 18.30
620-670 4,75% (monthly payment per $1,000 is $18.76) 26,725 % 1276
Determine the monthly payment, total payment and total interest payment for the three different credit
scores.
Complete the table below.
Credit Score Monthly Payment Total payment Total interest pad
780+
leles .39 39.€29.40 3114 .40
670-780 ' ”
L12.01 Hp 224,20 25%9.20
620-670 ' .
. (22U | ML 33T L0 | Y6120

"B X O monthn g TP - 30725
2, Compare the amount of money saved by maintaining a 780 + credit score instead of a 670-780 credit

score. 35‘5}—’}' 55
— 2 114,40

ToByey B0 or £ 2. 08 o molh.




3. Compare the amount of money saved by maintaming a 780 + credit score instead of a 620-670 credit

R (A S W74

Uy, 40
H1a9220  or BAYAT a mentl

4. Compare the amount of money saved by maintaining a 670-780 credit score instead of a 620-670

credit score.
gy
597,
% w1500 or #6372 wenhh

5. Explain why maintaining a good credit score is important when applying for a loan.
A @@,ﬂ C‘/a.w/f’f' sgore. (.11 U (ve Hae ConSomer o
Ipwer APR which il <Save mens 4,

Determine which dealer inecentive is the better deal for each scenario.

Scenario #1: A Chevrolet T'ahoc for $57,405

Option 1: 0% [or 72 months through GMAC plus $2,000 trade-in allowance

Option 2: $2,000 customer cash allowance plus $1,500 Tahoe package discount plus $2,000 trade-in
allowance with financing from a credit union at 60 months 2.95% APR compounded monthly
(monthly payment per $1,000 is $17.95)

Option ] Option 2

Principal loan amount 6 5 , L}O 5 Principal loan amount ﬂ 6 ’ ; 6305
5405 -2000 4 571405-200 - 1500 ~ 2000 7
giémlhly payment ﬁ 1,9, 51 Monthly payment % 931, (o9 _
oS =772 . - |
Total loan amount ﬁ 5(::) LH:)S Total loan amount E 55 _ 90 [ L/O L
Sinca. 07, inteve st = No nterest 'm:J, )

Which option is the better deal? d )P-’; lor ’ o

Scenario #2: A Chevrolet Traverse for $47,215

Option 1: $4,500 rebate with bank financing of 4.75% APR compounded monthly for 72 months
(monthly payment per $1,000 is $15.99)

Option 2: 0% fnancing for 60 months through GMAC

Option 1 Option 2

Principal foan amount ﬁ q Q7 I{'.) Principal loan amount fEE L{ 7; Q.lt 2

YI25 -4Se0 ’

Monthly payment c[‘{) (_083 \ O ' ~ Monthly payment $ 78{0 v C? rl

bz, 1E x 1599 U245 60

Total loan amount ﬂ L{ O( )LZG ; 7 ?-— ‘T'otal foan amount \g q 7; 2, lLHD

Which option is the better deal? ¢ %‘i [ onN 2_ __________




